Sorfece Airves é)( 3 /

Find thedength of the curve for

x = m(1 1y) %

petweenOandIn(2). o reurd  X-&x1§

n2 :
S:')_ch \L)\j;”-fmz C‘a

:"Zrz:f (1~ -l:anﬂ) siif cec 606

_ 'z\tj;lhz ("l""{:ﬂna)(Sﬂg@); 46

'{_ (1119’
lr2- 2 3
= - cec’f —secGtamb ya
ZFC\J:’ tean &
In2
- - cect _ cec’8 Lant
2TCf/ £ ané tant 6
n2 3
:*chf i:ie& "Stcge)a
a2 :

A
Yt\}o CO.S?GS‘;'I@ Cog36

= e f’" §ec29
SIMQ

Quiz 7
Zed Chance

S?C:’GP _ Cc‘-?é

Lant Coc*Brsint
|

Ces Bsn é

ras 646 = )
Cos™ @ -sra™d = cog 28



- g(’Cze‘ o
,f«—-—s/”e 08 Oz Coso8
= s;n@tanb -—f-écm@rccé;‘ 06
=S, nb tan - fSr"‘é
! ces*@ 4
= S;WO{ana +
= S'f“f?e{:ame' = —-—-———JJ
= S?r?é‘f‘anﬁ - sect
L e
= — 2
(e N o
_ (1-9)* —— T
o= _(_:___.D—)—-—-' ("._j)?-{-) /
N@-9)* 1 a
[ <4
TZ: [ sec 9&6

U, = Sec &

" ol - ¢
| R, - s nr TS s
f\ L, =2
Mz: S /\ A 9

A\} = Sc(izeég
\J = %cwié

oSl # 5i06 =)
| + #ar’6 = Sec’f

OV, = sec’8 it

du, = SecbLant)b V, = tand

= S'QCQ tanb '\/\‘\l;anggecgéomg s

= SecH tand r\/éan’é Sechd@
= SecOtund ’/(§6c29*1)(§666‘) 06

= c - 2 A8
Sect ‘éanﬂ fS(c Gob— fgfc@ 8

N R el
Lo



= Sect# tunlb - Js‘cc';@()& - gecﬁ}dé

e e

I,
ZIZ = SecB tand - [sec8d0
v

| =L ap A
2T, = Secl tenl — IM/SQ’(G + '&ane/ §'ﬁ = (')
o ]

»:i“ 56{9 ‘éa"lé "‘]n/S‘ece rﬁiqifﬁ/‘] p
) -- LS 15
= [T v "‘lhmt’vt/]

TTn

= 3 iaFT T (79 - In G747 + (19)/ |,

= T(1-9)~ S
e A0 memr o

s’:M T (i) = In [T H

(1'3

R O

—

!. > B
- - 21{: / ( I"z) _’W - -’[l—(l w2)*+1 ] { ”B) o )
r"‘"

|
—[n2)*+ )h/‘]—/‘!w ) +:’"; “,,(_)/

\ -




